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NAME

TR Adding Froctions and Mixed Numbers

To add fractions or mixed numbers when the denominators are different, rename the fract ',-"-"
the denominators are the same. '

7 4 % 3

< din @) 3 _ 3

+3 +3 x 3 +35 +28

e e
8= 5% =6

Add. Write each answer in simplest form.

a b C d

3 i

l. % % 4 6
2 1

3 +3 F3 ]

2 3

2. % % 3 4
3 7

+3 t o ta ‘o

7 1 2

3. Ll, 5 7 ?
3 7 1

3 (i dig Bt

3 2

Y. |4 3z 45 b
| I 3 38

+25 +73 +23 +315

3
5. LF Lz 2 '{
+31 +15 +33 +25

I

6. 3! 22 34 ‘*i
+24 +13 +1s +23




NAME

m Adding Integers

The sum of two positive infegers is a positive integer.

|—2—»| 2 >
Attt >
3-2-1 01 23 %5 6@86 9
2+5=7
The sum of two negative integers is a negative infeger.
|« = |3
Sttt >
@87 65422 0} 2 3 M
-3+ -6=-9

To find the sum of two integers with opposite signs, subtract the digit of lesser value from the digit
of greater value and keep the sign of the greater digit.

l 5 -
Attt >
8-7-6-54%-3-2-101®3 45 6 7 8

5+(-3)=5-3=2

Add.
a b c d

L adit =8~ 3+ (—4) LRsE
2. =3=+{53] Bati=3) £3+3 343

3. 5 (4 5+ w5 4 (=1} e s

4, —7+3 =7t 7 +:4~3) Zt

5 408 = 5 0 Eald B4 +{7} =g =R

6. 8+ §=8) ~8 4+ {=8) 8+8 -8 + 8

7. o) 330 5 () =56

8. 5+ (-6) 5+ 6 ~8+ 0 8+ 0

9. —3+6 o i () 3+6 3+ (-6)
10. —6 + (—4) -6 +Y4 6+ (—4) 6+ Y4
Spectrum Math Chapter 1, Lesson 5

Grade 7 Adding and Subtracting Rational Numbers
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NAME

[T Adding Integers

To find the sum of two integers with different signs, find their
absolute values. Remember, absolute value is the distance
(in units) that a number is from O, expressed as a positive
quantity. Subtract the lesser number from the greater number.
Absolute value is written as | n|.

The sum has the same sign as the integer with the larger
absolute value.

Add.
a b

1. 6+2= 9 su=Hmai ol
2. Y+7=__ ~3A{b) Tt
3. —l6+0=_ |3 LU=
Y, 0+(_9)=____ —|+2=__
5. B4 Y=L 3+ (-6} =_- (L
6. 45+21=__ N} +4Y =i s
7. 27+(-39)=___ 20+ | =

8. -12+(-12)=___ 35 + (-26) =

g Mg TR 8 -9 + (-6) =

10. Y+8m. =43 4 35 =

Spectrum Math

Grade 7

12




NAME

m Subtracting Integers

5-7=5+(-7)=-
To subtract an integer, add its opposite. 2 uishe ; B ey
Baed - 8 Heelink
Subtract.
a b c
2. -12-3 = -5 - (-6) = I4-19 =
3. 4-19= =l - (-1)= 16— =27 ) = .
4. -6 —(-6) = -1l -0= 2-2=
5. B 8-(-l)=__ ~13=3 504
6. Y3 - I15= g % T =24 (=38 = N
7. 46 — (-31) = =88 = (N7 ) = e R Y Sl
8. 9—(-6)= Bl e Bt e S =12 =a{-22)5 5
9. (-3) - 24 = -1 =% = 42 - 45 =
10. -33-12= e =MO) =NE T B RS0 2) a0 - .
Spectrum Math Chapter 1, Lesson &
Grade 7

Adding and Subtracting Rational Numbers
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NAME

[P Subtraciing Integers

Subtract.
a

I -32-(-27)=
8 Tl
- S TS
gy, 44-24=__
5. 49— [(44)=____
S0 -
=
8. -33-39=____
9. D=
10. -50-19=__ _
Tegs e BN e e
12 56-2l)=____
133 13
TR/ S Y

Spectrum Math
Grade 7

14

b

26-3=

9 - 48 =

2 - (49) =

23— ai=

16— 49 =

=32 — (F21) =

[ (20—
4 = (Bl = B
Ho - Yi=_
48— (-39 ="
245 = | gt
~|| - Bih=m S

26 — 9] =

———

r
8

»

2 - -0je

B

-
e

% - IS

0~ = _

31 - i3



NAME

Subtracting Fractions and Mixed Numbers

To subtract fractions or mixed numbers when the denominators are different, rename the fractions
so the denominators are the same.

b ixio..b 14 1 riBoess
| l > . Boimiibde Y b i )
‘a 14
10 i
Subtract. Write each answer in simplest form.
a b c d
7 2
. 3 : : 5
s | 1 e
= i 3 5
7
2' s 3 ; o
" X 1 2 L
s i —nEs e
3 5 ! (Z3
3. 4 5 2 T
$eR et s e
i e 4 s
b 23 3; T 63
ot ] = s
2 | 5
5 32 75 53 25
s - -32 e —13
6. -t 31 43 3%
3 l 3
-22 -1y —Z3 — 13
m Math Chapter |, Lesson 7
Spectru P
Grade 7

Adding and Subtracting Rational Numbers
15




NAME

K Poblem Solving
Solve each problem.

I.

At closing fime, the bakery had 2 apple pies and 13
cherry pies left. How much more apple pie than cherry
pie was left?

There was more of an apple pie
than cherry.

- The hardware store sold 63 boxes of large nails and

7 % boxes of small nails. In total, how many boxes of
nails did the store sell2

The store sold boxes of nails.

- Nita studied 43 hours on Saturday and 54 hours on

Sunday. How many hours did she spend studying?

She spent hours studying.

Kwan is 53 feet tall. Mary is 441 feet tall. How much
taller is Kwan?

Kwan is foot taller.

. This week, Jim practiced the piano | g hours on

Monday and 22 hours on Tuesday. How many hours
did he practice this week? How much longer did Jim
practice on Tuesday than on Monday?

Jim practiced hours this week.

Jim practiced hours longer on Tuesday.

. Oscar caught a fish that weighed 43 pounds and then

caught another that weighed 63 pounds. How much
more did the second fish weigh?

The second fish weighed pounds more.

Spectrum Math

‘»

Grode 7

SHOW YOUR WORK

Chapter |, Lesson 9

Adding and Subtracting Rational Numbers
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NAME

m Problem Solving

Solve each problem.

One cake recipe calls for 4 cup of sugar. Another
recipe calls for 13 cups of sugar. How many cups of
sugar are needed to make both cakes?

cups of sugar are needed.

. Nicole and Daniel are splitting a pizza. Nicole eats
P % P

1 of a pizza and Daniel eats § of it. How much pizza
is left2

of the pizza is left.

. The Juarez family is making a cross-country trip. On

Saturday, they traveled 450.8 miles. On Sunday, they
traveled 604.6 miles. How many miles have they
traveled so far?

They have traveled miles.

Kathy’s science book is |5 inches thick. Her reading
book is |3 inches thick. How much thicker is her
reading book than her science book?

It is inches thicker.

A large watermelon weighs 0.4 pounds. A smaller
watermelon weighs 3.6 pounds. How much less does

the smaller watermelon weigh?

It weighs pounds less.

Terrance picked | 15.2 pounds of apples on Monday.
He picked 97.6 pounds of apples on Tuesday. How
many pounds of apples did Terrance pick altogether?

Terrance picked pounds of apples.

3.

6.




NAME

m Mulhplymg Fractions and N\lxed NUmbers

possible. Then, multiply the numerators and mulfiply

Reduce to simplest form if
the denominators.
: Exgxl

, i b
7=8x2><7 112

XX

X
QX%X%’—‘axz

¢ fractions. Reduce o simplest form. Multiply the numergs ,

Rename the numbers as imprope

and denominators. Simplify. e
Llexixd 48— 3
3%X2§X|é=56:;|"5xlxl s
|
——’f
Multiply. Write each answer in simplest form.
a b ¥
3 3
% Ix3 2x3 it
R 4 Lo 3 3 x L
5«3 2L ) 2
3. PR c* ot 6.0
Y. 3x 12 24533 15 X 35
2 Z I |
1 2 5 I
6. bg X35 X7 =X 13%x2 2 %13 x34 13



NAME
m Multiplying Integers
The product of two ine

gers with the same

g < 3X3=9
sign Is positive, —3% ~3=0
The product of two integers with different B33 = g
signs 1s negative, -3xX3=-9
Multiply.
a b c d

1. 3x2= 4 x6= 8 X (-3) = 3 X ([-4) =

2.-8x7= 6 xi{=5) = -3 X (-8) = “4x 1=

3. 16 X(-2) = 4 X (-1)= 8 X (-11)= =7 X P10

4. 5%x8= 6 X (-6) = -13 %X (-2) = =049

5. 17 X (-1) = 5% (-2) = IR ¥=r 0 S

6. (-6) X 0 = Zeda- OX 0= * |-Sp>ctarc i

7. 8 X2} = e o (FHDG1-10)= 10 X (-3) = IxS=as o

8. 9 x (-4) = 10 X Y4 = 10X (-4) = S¢: 7 T

P-0xEI = MXil= 2. S 2x8= 1 L
10. (-4) X (-6) = __ [~10) X% (sR)m . SO [ D

Chapter 2, Lesson 3

Spectrum Math Multiplying and Dividing Rational Numbers
Grade 7

25



| Multiply.

2.

3.

Y.

3.

6.

7.

9.

Io.

12.

'3.

Tt = e

9wl =
felndl 2 PIs es

L)

loia2i=rr " -

Besr—=aty

6 X |2)=0 <0

DB T =

(G x=Sl=r —

Lol

296832 ="

BE ¢ e i b S N
Fldctitle" > &

a7 o=

(~11) x 36 =

NAME

| o vl I

b

3x(-3) = ——

O . i8 s
Jod=s oo

(-11)x2=

4T W S s e
FiFsXa 7 = o

OX ()= ______

3 % 8= """ aa

(-8) x8=____
-4)Yx8=___

ZX NN =

Yx33=

D)ool =

—_—

—_—

—_—

-12 %
4 x (-12) "
23

6% (-5)=__

12 X8 ﬁ
(-12) 4
| X (—6) ,
FWXW?:
ax (I

2x 5= _—




NAME

Lesson 2.4 | Dividing Fractions and Mixed Numbers

To divide by a fraction, multiply by its reciprocal.

.18
5 .
§+3= = 175 '%‘232/’;”(23—55
|
Divide. Write each answer in simplest form.
a b c d
| = 2 s
SRS e P ST P
B ade E3L
2. 7+3= 255 + 11 = 2; + & = g8 AT
3. TR 1£ =21 = 52 35 = H =
L gt o]
4. 65+ %= 35 HPE siedie  4f + 5= b gt
5. 28R 1§ +Z = 125 15 = Orlyd =
Spectrum Math Chapter 2, Lesson 4
Grade 7

Multiplying and Dividing Rational Numbers
27




Lesson 2.6 | Dividing Integers

NAME

. The quotient of two integers with the same 8+2=4
L sign is positive. -8+ (-2) =4
!
The quotient of two integers with different 8 +(-2)= -4
signs is negative. -8 +2=-Y4
Divide.
a b c
| . 12+ Y= 16 + (-4) = o
\
2. Foifhis -4+ 7 = 24 + (-6) =
3. 8l +(3)= -63 + 9 = =55+ Sk, Thd
Y. 21 = (-7)= -38 + 2= -19 =+ (-1) =
B soapEians ) ooy =60 =+ (10}
| g
|
| 6. 20+2= eI ANY Fe= Lo 0=
7. 288 = (-18) = (-85) + (-5) = ___ (Eolaates 8
8. 136+(-8)= (=171)+=19=2" 240 + 15 =
9. 168~ 12= (<200)5= 20:= "7 sl m o
10. 240 = (-15) = (~120) + (-8) = 102 + (-17) =
Spectrum Math Chapter 2, Lesson é
Grads 7 Multiplying and Dividing Rational Numbers
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NAME

m Dividing Integers

Divide.
& b

2 (-140) = (-10) = ____ (-210) + 15=
2. 13) + (=1)= __ 20+ 8=
3. 400 + (-20) = ____ 39+ (-13) = ___
. (-200) + 10=____ 224+ (-16)= ___
5. 88— Ph =" (-60) + 12=____
6. 288 + (-16)=____ (=90)+6=____
7. 1333 4%=_ 55+ =00
8. 48 + (-8)=__ (-306) + 17=____
9. 35 +b= M= (-17)=____
10. BI'=3=__ " I8l =Rl
. 6 =1r=_ (~180) =+ 15= '
12. LS - 26 s i-2lE<iad
13. Pl Sildald) = (-248) + 4=
4. FIOA == 688 +8=__

Spectrum Math

it | Moliphing @



NAME

Problem Solving

Solve each

(&

. Katie has 163

problem. Write each answer in simplest form.

Each month, Kelsey donates
school for supplies. 3 of that

class. How much of her allo
the chorus class?

3 of her allowance to her
amount goes to the chorus
wance goes to supplies for

of her allowance goes to help the
chorus classes.

. 3 .
- Alvin cuts § of a piece of cheese. He gives § of it to

Matt. How much of the cheese does Alvin give to Matt?

Alvin gives of the cheese to Mat.

& hours to finish 3 school projects. How

much time may she spend on each project, if she plans
to spend the same amount of fime on each?

Katie will spend

. hours on
each project.

. Martha (Sfent $2.90 on 33 E‘ounds of bananas. How

much did she spend on each pound of bananas?

She spent on each pound.

- Monica has 55 cups of sugar o make pies. If each pie

uses % cup of sugar, how many pies can Monica
make?

Monica can make pies.

. Vince has 125 hours to mow the lawn, do the laundry,

make dinner, and finish his homework. How much time
can Vince spend on each fask, if he plans to spend the
same amount of time on each?

Vince will spend hours on
each project.

7. Drew spent $38.97 on 33 Eounds of shrimp. How
much cﬁj he spend on each pound of shrimp?
Drew spent on each pound
of shrimp.

Spectrum Math
Grade 7

SHOW YOUR WORK

Chapter 2, Lesson 9
Multiplying and Dividing Rational Numbers
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x 2 3 5 % Step |: Set up an equation in whick the C°nsk,;

equal to y + x.

Yy 6 9 |5 |8

NAME :
A unit rate can also be called a constant of proportionality. The Constant
describes the rate at which variables in an equation change. of

Step 2: Check the equation across mufg.
the constant. * mulpe Poinjy

Step 3:6 +2=3,9+3=3 |5+5=3“;

Find the constant of proportionality for each set of values.

a b
.= 2 3| 8 x [o4 o8 ial
w7 R R Y| 2| v 1 2
k == k = E
2. [x | | 2.4 251 35 x |45 6 [0
y gt S | 7 y | 75| 10 |7
k= L
. 4Fx P il PrEil s x | 10] 2 | %
k= k=
Spectrum Math L pep
Grade 7 Ratios @



_ e

AM

NAME
Constants of Proportionality |

Find the constant of proportionality for each set of values.
a
!
. ] x I 2 3 1y x 3 6 9 12
4 2 4 6 8 Yy 2 5 6 8
k = L=
2. | x 5 |5l 25 485 x| 225 10 | 15| 25
Yy I 3 8 7 ) 4 4 8 12 20
k= K=
3.1 x 18 30 42 154 x |0.25 I 3 4
Yy S 5 A 9 y 05 2 6 8
b pe
4 X Y 8 12 16 X 4 8 12 16
y | 9 3 4 y 3 6 9 12
k= K
Chapter 4, Lesson 3
é‘::j?;‘ Math Ratios and Proportional Reloﬁonshr;
:




edHelper com - Percents Page 2 of 6
Name _ o A e s, . — A Date
¥ () )
Percent

(Answer ID = 0799797)
Write each percent as a fraction in simplest form.

1. 310% 2.+23% 3. 99%

Write each percent as a decimal.

4 1% 5. 56.5% 6. 330%
Write each decimal as a percent.
7. 0349 8. 0.083 9. 0.390

Write each fraction as a percent. Round to the nearest hundredth of a percent.
10 #31 f1:-5s 19: i3

4 8

(O] O
i (0%}
(O B [ (S

Find the percent of each number.
74 14% of 229 #5. 75% of 262 Z6. 298% of 41




Complete. Round your answer to the nearest tenth.

Z7. 140 is 70% of what number? 8. 397% of what number is 297.757?

Find each percent of change. Round your answer to the nearest tenth of a percent.

79. 290 is increased to 435 20, 355 is increased to 639

22,

N
(0%}

24.

. Ronald bought a book that was regularly priced $7.99. Tt was discounted 20%.

How much did Ronald pay?

A bicycle costs $129.95 plus 6.8% sales tax. Find the total cost.

. A jacket costs $120 regular price. It is on sale for 55% off. The sales tax is 7%.

What will the final cost of the jacket be?

A computer priced $900 was marked down 25%. One month later it was marked
down 10% from the already reduced price.
a. Find the price of the computer after the first discount.

BONUS (4 points) — Find the price of the computer after the second discount.




tions of Equations

SOtL
Name
Date Period
SO'VC‘
1. X 4 8 - 12 J\
2. Xx+7=30
3 x-5=20 L§ S
5. x+3=-34 Lig A
6. x+7=-22
7. x—14=—43 e &
8. x—15=-34 of, S B B
9. x+10=100 Lag gy
10. x+14=121 ey B
11. x—42=13
12. x—63=17 N eow B
. x+91=52
13 14. x+ 86 =47 pidose B4
15. x+5=13 16. x+9=25 ez g
17. x—4=19 18. x—17=22 Boen X2
19. x+5=—14 tew OF 20. x+11=-23 s AP
21. x—19=—-14 Q sy S8 22 x—23=-7 L 4
23. x—4=-34 o W . 24. x—9=-27 Dl g
25 x+27=-9 26. x+13=-37 ooy AE
27. x+14=3 28. x+22=11 .
32. x—19=-33 L AL | A
31. x— 14=—21 —

Developing Skills in Algebra Book A

59
© 1984 by Dale Beymour Publications



, \
SOlVe N
| R s S S
1. x+7 1 % Pariods ..
\
1--3 2- x+§=3
Rl e e
5 x+£=2 S 5
S 3
. x~7—5 =
\
: 8 x-24
9 x+§=7 EEhlEn
o 10. x+1l=9
E 9 11
132 X—-8-=Z
S T ]
5 2 3 6
13 Xt e
9 3 g 44 ..7 3
8 4
9
15 x-S ==
S § B — 16. x—g=§
3 3
17. x+025=1
—_ 18. x+0.82=4
0. x=0700 L0 20.x+081=15
21. x+231=-44 22, x+532=-33
23. x—1.15=-3.61 24, x—3.42=-554
25. x+3.7=-22 26. x+4.3=-8.1
27. x_822=_7 F R O 28. X_9.94=—'2
., Xx+47=82
29. x+22=35 Are e 30X
32, x—8.1=9.55
31. x-5.3=6.21 e
61 Developing Skills in Algebra  Book A

© 1984 by Dale Seymour Publications




of Equations

golutions Name

Date Period ———
P
Solve
{. e P 2. 2x=4 S LA
g 3x=-6 4. 4x=—12 P &
5. 13x=91 6. 21x=147 —_—
7. -6y=84 8. —8y=96 —
9. 9z= 9 10. 12z=—36 —
11, el 12. 10u=0 SESONG | =
13. —16p=—128 14. —23p=—161 e Be
15. —x=115 16. —x=108 e Y
17. 36x=18 18. 15x=45 R G o 2
19. 85x=—17 20. 48x=—12
21. 98x=14 22. 102x=17
23. —x=4 24. —x=20
25. 36x=27 26. 45x=60
27. —15x=6 28. —28x=21
29. 14x=-35 30. 24x=—36
31. 12x=32 32. 16x=20

¥ 1984 by Dale Seymour Publications

Developing Skills in Algebra

Book A



utions Of Equations
SLIUU R
i Period
—
golve-
1x=5 /o
1 §* % %X=2
1
Iy=3 :
3. 4 BN 4. —5'X=
(g
% _7-x s S 6. —x=—-2
1
1e=~1
7' Bx 8. —x=_3
—:1’X==4 =7
e 10. —x=2
11. ;1-x=7 5 :lx=9
4 -3
“x=-2 i
13. ——7—X— 14. ——X=—7
15. -52-x=12 3 %ng
S 4
17. =z=12 Y
8” 3z=16
S 7
o - »a- B 20. Lk=21
19 6k 30 :
T Fhr S 22, =p=-50
21. 3 a=18 : 5
So=- oo ae  24.22d-36
23. 5 c=-20 :
So. =iz 8% 4r— 32
i 5e Tk 26. =
E”  L=15
27. 5..32 p ¥ o 28 :
2X Bt
8.5~ 30. <
- —5X
3. 22 32, =2X-35
;e —_— 1

© 1864 by Dale Seymour Publications

65

Developing Skills in Algebra

Book A




CHALLENG E!
H.’g hi recommended

L Hose endferi g
Advanced Math in




U Calculate.

il oo e -

6

(23 045+ =

5

3
(3) 0.85+%

DeCImals and Frachons oo

_

Ay



Calculate. 5 points per question

4 +0-25+ & = 6) 5:5-2.3- 113~
2+O.4+§= (7) '¢?0+0.45_é(|)=
(3) 0.25+ 4 +0.6= (8) 2-0.25+3 =
() 63 L—1.4—3= (9) 0.875-3+1%=
(5) 77';—I.2—3—é—= (10) 0.75+%—%=
 Fantasfic workl

Fet

@© Kumon Publishing Co., Ltd. 53




Decimals and Frachons v

_

271"

'L/ Calculate.
el & ol
(1) 6><O.5 (6) 0.45= R
(o) = 9.
(2) 6x0.75 (7) 0.55=+ 0=
(3) 2 x0.08= (8) 0.325 01n8
|: 2 6
(4) 22 %0.9= (o) e i
3 ; | 2
(5) 0.04XI%= 1o) 0.625-+ 2|2

Convert each decimal into a
‘ fraction to calculate. _,




Calculate. : j
5 points per question

2

3

X0.9=

x4>a6x%+042=

é. ...'-2.:
(5) - X0.25= B




1 ) Calculate. Write the intermediate steps:

—Don’t forget!

According fo the order of operations,
« calculate the numbers in parentheses and brackets first
« then perform multiplication and division before addition and subtraction

« then calculate from left fo right

(13 9—-3+5= (6) 7T—2X2-1=

(2) q_(3+5)_—_q_D= (7) (71-2)%(2-
@16 X221 = (8) (7-2)X2=8

(4) (6X2)+4= (9) 7—2x(é-v




Write the intermediate steps.

i Spoins e st
|
| 43X 5= of L
! 2,2+3 3 (7) |7(_°'Z*(4X2)=
) e (8) — e L e —
(2) (2 2 3 |4 5 .4)X2
ik LS B
(3) 2-(2+3)x3 (9) [(lz—7)+4]x2=
\ — — —_ i—i — —
) 20-[4+(2+6)]1+2 a0) (I : 2).(4x2)
| o (20-9=2+6)0=10 (1) 8.2-4+3+6x2
| !
(6) | Sl e 12 (8.2——=|+[3+(6x2)]
(6) |4 5" LX2 ( 5)
Answer each word problem. Write the question as an expression 10 points for completion
first, and then calculate.
Robert bought 5 books each day for 2 days. He then bought 2 books each day for \(\E 4

4 days. If each book is worth $15.00, how much money did he spend?

153
< k. Your work is priceless! ,@




